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Missing Digit Subtraction Lesson 

Find the value of A and B. 

      58 

-    A4 

      2B  
 

We can break this problem into 2 steps. 

Step 1) Evaluate the ones column.   The ones column reads: 

8 – 4 = B 

4 = B (Simple subtraction) 

Step 2) Rewrite the problem with what we know now and evaluate the tens column. 

      58 

-    A4 

      24  

The tens column now reads:    5 – A = 2 

5 – 2 = A  (We can rearrange the equation as) 

3 = A 

 

The final values are:  A = 3 and B = 4 

 

 


